
Math 180 – Prof. Beydler Homework for Packet #11 Page 1 of 1 

1. 𝐿(𝑥) =
𝜋

2
− 𝑥 

 
2. 𝐿(𝑥) = 𝑒2𝑥 − 𝑒2 
 
3. 𝑑𝑦 = 2𝑥 cos(𝑥2) 𝑑𝑥 ;  𝑑𝑦 ≈ 0.108 
 

4. 𝑑𝑦 =
2𝑥

𝑥2+1
𝑑𝑥 ;  𝑑𝑦 = 0.008 

 

5. 10.01 
 

6. 
1

(3.99)2
≈ 0.06281 

 

7. √15.99
4

≈ 1.99969 
 

8. √4.01 ≈ 2.0025 
 

9. Estimated maximum error:  0.16𝜋 in3 ;  Estimated percentage error:  1.5% 
 

10. Estimated maximum error:  0.32𝜋 in2 ;  Estimated percentage error:  0.5% 
 

11. Estimated maximum error:  24 cm2 ;  Estimated percentage error:  1% 
 

Review 
12.   

a) −
2

𝜋
 

b) −∞ 

c) 0 

 

13. lim
𝑥→𝑎

𝑓(𝑥) = 𝑓(𝑎) 

 


